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import java.io.IOException;
import java.io.InputStreamReader;

import java.io.BufferedReader;
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class Ex2 {
public static void main(Stringl[] args) {
BufferedReader br = new BufferedReader(new InputStreamReader(System.in));
double r = 0;
System.out.print(":£% r (cm) (X? ")
try 1
String strR = br.readLine();
r = Double.parseDouble(strR);
} catch (NumberFormatException e) {
System.err.printIn("E il 3 A Z T ER- A
System.exit(2);
} catch IOException e) {
System.err.println(" A /= Z —");
System.exit(1);

¥

if (¢ <= 0) {
System.err.printIn(" {2137 7 A DOFAE T/ UL D EHAM;
System.exit(3);

¥

double ensyu = 2 * Math.PI * r;

double menseki = Math.PT * r * r;

double hyomenseki = 4 * Math.PI * r * r;
double taiseki = 4.0/ 3 * Math.PI *r * r * 1;

System.out.println(;

System.out.println("fJ& (cm) =" + ensyuw);
System.out.println("EfE (cm”2) =" + menseki);
System.out.println("Z fif§ (cm”2) =" + hyomenseki);
System.out.println("{Aff (cm”3) =" + taiseki);



PLUF T,
w1

PEERS A 1602345 L1 5,

22 v (em) 1X? 9.7

)& (em) =

60.94689747964198

g (cm”2) = 295.5924527762636
FfE (cm”2) = 1182.3698111050544
A (cm”3) = 3822.9957225730086
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22 r(em) 1X? 4.5

)& (cm) =

28.274333882308138

g (cm”2) = 63.61725123519331
FHEfE (em”2) = 254.46900494077323
{&fE (cm”3) = 381.7035074111599
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2 v (em) 1X? -4.5
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x taiseki
x taiseki
O taiseki
O taiseki
O taiseki
O taiseki
O taiseki
O taiseki

(4/3) * Math.PI * r % r * r;

4/ 3 % Math.PI *r % r * r;
=4.0/3.0%Math.PI *r *r *r;
=4.0/ 3 % Math.PI *r % r * r;

4 /3.0 %Math.PI *r *r *r;
(4 * Math.PI *r *r xr) / 3,

4 x Math.Pl * r xr * r / 3;

= Math.Pl *r xr xr x4 / 3,



